Base Line Item Detail					South State, Inc.	South State, Inc. Richard E. Pierson Construction Earle Asphalt Company					A. E. Stone, Inc.		
Item No.	Unit Code	Qty	UOM	Description	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	
1	1D01LAY	1	L.S.	Construction Layout	\$100,000.00	\$100,000.00	\$125,000.00	\$125,000.00	\$170,108.03	\$170,108.03	\$210,000.00	\$210,000.00	
2	1D10MOB	1	L.S.	Mobilization	\$370,000.00	\$370,000.00	\$420,000.00	\$420,000.00	\$402,000.00	\$402,000.00	\$512,261.80	\$512,261.80	
3	1G01SCH	1	L.S.	Progress Schedule	\$50,000.00	\$50,000.00	\$10,000.00	\$10,000.00	\$11,500.00	\$11,500.00	\$12,000.00	\$12,000.00	
4	1HFP0B	1	L.S.	Fuel Price Adjustment (NO-BID)	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	
5	2A01CAG	5	Acre	Clearing and Grubbing	\$0.01	\$0.05	\$2,500.00	\$12,500.00	\$7,584.16	\$37,920.80	\$5,000.00	\$25,000.00	
6	2B04REX	47,417.00	C.Y.	Roadway Excavation and Embankment	\$0.01	\$474.17	\$0.01	\$474.17	\$18.80	\$891,439.60	\$20.00	\$948,340.00	
7	2B15STS	6,810.00	C.Y.	Stripping Topsoil	\$6.75	\$45,967.50	\$15.00	\$102,150.00	\$12.50	\$85,125.00	\$12.00	\$81,720.00	
8	2C02EMB	250	C.Y.	Embankment, Grade A	\$44.00	\$11,000.00	\$120.00	\$30,000.00	\$25.88	\$6,470.00	\$75.00	\$18,750.00	
9	2G00006	950	C.Y.	Sand Filter Layer	\$15.50	\$14,725.00	\$16.00	\$15,200.00	\$45.84	\$43,548.00	\$40.00	\$38,000.00	
10	2G01RAP	25	Ton	Riprap Stone Scour Hole, 12" Thick, D50=6"	\$100.00	\$2,500.00	\$80.00	\$2,000.00	\$116.03	\$2,900.75	\$150.00	\$3,750.00	
11	2G12A06	100	Ton	Riprap Stone Aprons, 12" Thick, D50=6"	\$100.00	\$10,000.00	\$75.00	\$7,500.00	\$115.90	\$11,590.00	\$150.00	\$15,000.00	
12	2G12D07	20	Ton	Riprap Stone Ditch Protection, 12" Thick, D50=6"	\$100.00	\$2,000.00	\$75.00	\$1,500.00	\$133.16	\$2,663.20	\$150.00	\$3,000.00	
13	2G16A01	10	Ton	Riprap Stone Aprons, 16" Thick, D50=8"	\$100.00	\$1,000.00	\$90.00	\$900.00	\$114.82	\$1,148.20	\$225.00	\$2,250.00	
14	2H00007	13,500.00	L.F.	Heavy Duty Silt Fence, Black	\$5.00	\$67,500.00	\$5.80	\$78,300.00	\$5.37	\$72,495.00	\$4.50	\$60,750.00	
15	2H00016	44	Each	Inlet Filter, Type 2	\$150.00	\$6,600.00	\$125.00	\$5,500.00	\$105.62	\$4,647.28	\$200.00	\$8,800.00	
16	2H00025	110	S.Y.	Concrete Driveway, Reinforced, 6" Thick	\$71.00	\$7,810.00	\$75.00	\$8,250.00	\$75.50	\$8,305.00	\$70.00	\$7,700.00	
17	2H05DSC	300	KGAL	Watering	\$0.01	\$3.00	\$165.00	\$49,500.00	\$1.00	\$300.00	\$2.00	\$600.00	
18	2H25TEC	130	C.Y.	Hay Bales	\$100.00	\$13,000.00	\$38.00	\$4,940.00	\$26.47	\$3,441.10	\$2.00	\$260.00	
19	2H35TEC	70	L.F.	Floating Turbidity Barriers	\$25.00	\$1,750.00	\$80.00	\$5,600.00	\$76.74	\$5,371.80	\$25.00	\$1,750.00	
20	2H45TEC	243	Ton	Construction Driveway	\$0.01	\$2.43	\$25.00	\$6,075.00	\$63.61	\$15,457.23	\$30.00	\$7,290.00	
21	2K01TPF	2,780.00	L.F.	Temporary Orange Plastic Fence	\$4.00	\$11,120.00	\$2.50	\$6,950.00	\$6.16	\$17,124.80	\$3.00	\$8,340.00	
22	2M00030	4,200.00	C.Y.	K4 Soil	\$0.01	\$42.00	\$25.00	\$105,000.00	\$2.78	\$11,676.00	\$12.00	\$50,400.00	
23	2M00031	97	C.Y.	Excavation, Unclassified	\$75.00	\$7,275.00	\$90.00	\$8,730.00	\$18.80	\$1,823.60	\$75.00	\$7,275.00	
24	2M00032	60	C.Y.	I-9 Soil Aggregate	\$65.00	\$3,900.00	\$90.00	\$5,400.00	\$50.72	\$3,043.20	\$75.00	\$4,500.00	
25	3AVTABC	410	C.Y.	Aggregate Base Course, Variable Thickness	\$30.00	\$12,300.00	\$65.00	\$26,650.00	\$56.59	\$23,201.90	\$50.00	\$20,500.00	
26	3A06ABC	12,300.00	S.Y.	Aggregate Base Course, 6" Thick	\$12.00	\$147,600.00	\$14.00	\$172,200.00	\$8.97	\$110,331.00	\$25.00	\$307,500.00	
27	3A08ABC	12,325.00	S.Y.	Aggregate Base Course, 8" Thick	\$8.00	\$98,600.00	\$15.00	\$184,875.00	\$11.77	\$145,065.25	\$16.00	\$197,200.00	
28	3B00002	3,530.00	Ton	Hot Mix Asphalt 19M64 Intermediate Course	\$95.00	\$335,350.00	\$90.00	\$317,700.00	\$76.08	\$268,562.40	\$75.00	\$264,750.00	
29	3B00008	370	S.Y.	Hot Mix Asphalt Driveway, 5.5" Thick	\$50.00	\$18,500.00		\$15,725.00	\$55.57	\$20,560.90	\$50.00	\$18,500.00	
30	3B00RPR	3,056.00	S.Y.	Hot Mix Asphalt Pavement Repair	\$0.05	\$152.80	\$20.00	\$61,120.00	\$12.36	\$37,772.16	\$15.00	\$45,840.00	
31	3B01PJA	40,400.00	L.F.	Polymerized Joint Adhesive	\$1.00	\$40,400.00	\$0.40	\$16,160.00	\$0.08	\$3,232.00	\$1.00	\$40,400.00	
32	3B26TAC	13,270.00	GAL	Tack Coat	\$0.01	\$132.70	\$0.01	\$132.70	\$0.01	\$132.70	\$0.01	\$132.70	
33	3B32HMA	7,339.00	Ton	Hot Mix Asphalt 12.5M 76 Surface Course	\$95.00	\$697,205.00	\$80.00	\$587,120.00	\$86.16	\$632,328.24	\$100.00	\$733,900.00	
34	3B33HMA	5,747.00	Ton	Hot Mix Asphalt 25M 64 Base Course	\$95.00	\$545,965.00	\$66.00	\$379,302.00	\$68.11	\$391,428.17	\$75.00	\$431,025.00	
35	3B34HMA	2,730.00	Ton	Hot Mix Asphalt 19M 76 Intermediate Course	\$95.00	\$259,350.00	\$90.00	\$245,700.00	\$81.25	\$221,812.50	\$80.00	\$218,400.00	
36	3BAPA0B	1	L.S.	Asphalt Price Adjustment (NO-BID)	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	
37	3C01BRS	970	S.Y.	Berm Surfacing, 3 Inches Thick	\$19.00	\$18,430.00	\$19.50	\$18,915.00	\$24.00	\$23,280.00	\$18.00	\$17,460.00	
38	3E07PMR	33,030.00	S.Y.	Pavement Removal, 2" Depth	\$0.30	\$9,909.00	\$5.00	\$165,150.00	\$2.77	\$91,493.10	\$3.00	\$99,090.00	
39	3N00003	2,040.00	S.Y.	Concrete Base Course, 10" Thick	\$78.00	\$159,120.00	\$85.00	\$173,400.00	\$94.25	\$192,270.00	\$75.00	\$153,000.00	
40	4A01CSH	2	C.Y.	Concrete In Structures, Headwalls	\$2,000.00	\$4,000.00	\$4,400.00	\$8,800.00	\$4,806.74	\$9,613.48	\$5,000.00	\$10,000.00	
41	4A04STC	5 404 00	C.Y.	Concrete In Footings	\$1,200.00	\$40,800.00	\$750.00	\$25,500.00	\$1,155.69	\$39,293.46	\$650.00	\$22,100.00	
42	4A10RFS	5,491.00	LB	Reinforcement Steel	\$1.75	\$9,609.25	\$2.60	\$14,276.60	\$3.99	\$21,909.09	\$2.50	\$13,727.50	
43	4F26OSS	1	L.S.	Overhead Span Sign Support Structure No. 1	\$100,000.00	\$100,000.00	\$104,000.00	\$104,000.00	\$110,315.63	\$110,315.63	\$95,000.00	\$95,000.00	
44	4001TSP	730	S.F.	Temporary Sheeting	\$0.01	\$7.30	\$10.50	\$7,665.00	\$23.11	\$16,870.30	\$8.00	\$5,840.00	
45	5B00017	48	L.F.	14" x 23" Elliptical Reinforced Concrete Pipe, Class III	\$300.00	\$14,400.00	\$160.00	\$7,680.00	\$84.66	\$4,063.68	\$200.00	\$9,600.00	

Base Line Item Detail					South State, Inc.		Richard E. Piers	Richard E. Pierson Construction		Earle Asphalt Company		
46	5B15RC3	1,990.00	L.F.	15" Reinforced Concrete Pipe	\$81.00	\$161,190.00	\$110.00	\$218,900.00	\$61.02	\$121,429.80	\$100.00	\$199,000.00
47	5B15RCE	6	Each	15" Reinforced Concrete Flared End Section	\$1,700.00	\$10,200.00	\$1,000.00	\$6,000.00	\$979.02	\$5,874.12	\$1,800.00	\$10,800.00
48	5B18RC3	2,000.00	L.F.	18" Reinforced Concrete Pipe	\$80.00	\$160,000.00	\$110.00	\$220,000.00	\$50.92	\$101,840.00	\$90.00	\$180,000.00
49	5B18RCE	4	Each	18" Reinforced Concrete Flared End Section	\$1,750.00	\$7,000.00	\$1,200.00	\$4,800.00	\$1,034.22	\$4,136.88	\$2,000.00	\$8,000.00
50	5B24RC3	800	L.F.	24" Reinforced Concrete Pipe	\$70.00	\$56,000.00	\$120.00	\$96,000.00	\$72.22	\$57,776.00	\$120.00	\$96,000.00
51	5B30RCE	1	Each	30" Reinforced Concrete Flared End Sections	\$2,750.00	\$2,750.00	\$2,000.00	\$2,000.00	\$2,300.19	\$2,300.19	\$2,500.00	\$2,500.00
52	5B30RC3	1,270.00	L.F.	30 " Reinforced Concrete Pipe, Class III	\$90.00	\$114,300.00	\$130.00	\$165,100.00	\$128.32	\$162,966.40	\$225.00	\$285,750.00
53	5C00004	3	Each	Outlet Control Structure	\$11,000.00	\$33,000.00	\$12,500.00	\$37,500.00	\$10,108.10	\$30,324.30	\$10,000.00	\$30,000.00
54	5C00038	1	Each	Inlets, Type E-1	\$5,100.00	\$5,100.00	\$5,000.00	\$5,000.00	\$6,424.35	\$6,424.35	\$5,500.00	\$5,500.00
55	5C00062	5	Each	Manhole, 5' Diameter	\$6,350.00	\$31,750.00	\$6,000.00	\$30,000.00	\$6,768.44	\$33,842.20	\$7,400.00	\$37,000.00
56	5C00111	1	Each	Manhole, 6' Diameter	\$10,000.00	\$10,000.00	\$7,000.00	\$7,000.00	\$14,924.51	\$14,924.51	\$7,700.00	\$7,700.00
57	5C01NBO	34	Each	Inlet, Type B	\$4,800.00	\$163,200.00	\$5,000.00	\$170,000.00	\$5,611.55	\$190,792.70	\$4,000.00	\$136,000.00
58	5C01ND1	3	Each	Inlet, Type D1	\$4,350.00	\$13,050.00	\$4,000.00	\$12,000.00	\$4,632.08	\$13,896.24	\$4,000.00	\$12,000.00
59	5C01ND2	1	Each	Inlet, Type D2	\$5,200.00	\$5,200.00	\$6,000.00	\$6,000.00	\$4,932.35	\$4,932.35	\$4,000.00	\$4,000.00
60	5C01ND4	1	Each	Inlet, Type D4	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00	\$4,505.30	\$4,505.30	\$4,500.00	\$4,500.00
61	5C01NE0	5	Each	Inlet, Type E	\$4,700.00	\$23,500.00	\$5,500.00	\$27,500.00	\$5,175.98	\$25,879.90	\$4,500.00	\$22,500.00
62	5C55CDS	5	Each	Cleaning Existing Drainage Structures	\$300.00	\$1,500.00	\$350.00	\$1,750.00	\$512.50	\$2,562.50	\$325.00	\$1,625.00
63	5D10INC	25	C.Y.	Incidental Concrete	\$600.00	\$15,000.00	\$500.00	\$12,500.00	\$357.36	\$8,934.00	\$500.00	\$12,500.00
64	5E01ALC	475	L.F.	Asphalt Concrete Lip Curb	\$20.00	\$9,500.00	\$17.00	\$8,075.00	\$14.50	\$6,887.50	\$16.00	\$7,600.00
65	5F00002	300	S.Y.	Concrete Island, 4" Thick	\$58.50	\$17,550.00	\$61.00	\$18,300.00	\$49.91	\$14,973.00	\$52.50	\$15,750.00
66	5F00005	300	L.F.	12" x 13" Concrete Sloping Curb	\$25.00	\$7,500.00	\$26.00	\$7,800.00	\$21.60	\$6,480.00	\$23.00	\$6,900.00
67	5F01VCA	8,000.00	L.F.	Concrete Curb, Type A	\$24.50	\$196,000.00	\$29.00	\$232,000.00	\$19.11	\$152,880.00	\$23.00	\$184,000.00
68	5F10SNC	47	L.F.	Solid Nose	\$33.00	\$1,551.00	\$38.00	\$1,786.00	\$21.54	\$1,012.38	\$30.00	\$1,410.00
69	5F15DCC	250	L.F.	Drop Curb	\$24.50	\$6,125.00	\$39.00	\$9,750.00	\$19.93	\$4,982.50	\$24.00	\$6,000.00
70	5H01CMB	170	L.F.	Concrete Median Barrier, Roadway	\$195.00	\$33,150.00	\$205.00	\$34,850.00	\$230.00	\$39,100.00	\$190.00	\$32,300.00
71	5H03CBC	700	L.F.	24" X 41" Concrete Barrier Curb	\$92.00	\$64,400.00	\$95.00	\$66,500.00	\$175.00	\$122,500.00	\$90.00	\$63,000.00
72	5100003	732	S.F.	Guide Sign Panels, Type GO	\$22.00	\$16,104.00	\$23.00	\$16,836.00	\$32.00	\$23,424.00	\$35.00	\$25,620.00
73	5100017	16	Each	Relocate Signs	\$100.00	\$1,600.00	\$175.00	\$2,800.00	\$533.38	\$8,534.08	\$150.00	\$2,400.00
74	5I01SNP	1,685.00	S.F.	Sign Panels	\$24.00	\$40,440.00	\$49.00	\$82,565.00	\$30.25	\$50,971.25	\$18.00	\$30,330.00
75	5I11REM	100	Each	Remove Signs	\$100.00	\$10,000.00	\$56.00	\$5,600.00	\$198.90	\$19,890.00	\$70.00	\$7,000.00
76	5JGRP02	30	Each	Beam Guide Rail Post, 8' Long	\$85.00	\$2,550.00	\$89.00	\$2,670.00	\$112.50	\$3,375.00	\$75.00	\$2,250.00
77	5J00FGT	4	Each	Flared Guide Rail Terminal	\$2,100.00	\$8,400.00	\$2,200.00	\$8,800.00	\$2,462.50	\$9,850.00	\$2,000.00	\$8,000.00
78	5J01RBG	2,000.00	L.F.	Removal of Beam Guide rail	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$3.50	\$7,000.00	\$1.00	\$2,000.00
79	5J51TTS	3	Each	Tangent Guide Rail Terminal	\$2,300.00	\$6,900.00	\$2,420.00	\$7,260.00	\$2,675.00	\$8,025.00	\$2,000.00	\$6,000.00
80	5J52ABG	13	Each	Beam Guide Rail Anchorage	\$655.00	\$8,515.00	\$690.00	\$8,970.00	\$817.50	\$10,627.50	\$650.00	\$8,450.00
81	5J52BGR	6,754.00	L.F.	Beam Guide Rail	\$17.00	\$114,818.00	\$18.50	\$124,949.00	\$26.75	\$180,669.50	\$17.00	\$114,818.00
82	5J53RRS	1,023.00	L.F.	Rub Rail	\$9.00	\$9,207.00	\$9.50	\$9,718.50	\$9.75	\$9,974.25	\$8.00	\$8,184.00
83	5N00001	1,400.00	S.Y.	Concrete Sidewalk, Reinforced, 4" Thick	\$60.50	\$84,700.00	\$65.00	\$91,000.00	\$50.45	\$70,630.00	\$60.00	\$84,000.00
84	5N00003	16	S.Y.	Detectable Warning Surface	\$225.00	\$3,600.00	\$240.00	\$3,840.00	\$129.38	\$2,070.08	\$220.00	\$3,520.00
85	5001CAY	30	Each	Delineator, Type CA-Y	\$75.00	\$2,250.00	\$125.00	\$3,750.00	\$82.50	\$2,475.00	\$75.00	\$2,250.00
86	5001PAW	78	Each	Delineator, Type PA-W	\$45.00	\$3,510.00	\$105.00	\$8,190.00	\$67.50	\$5,265.00	\$75.00	\$5,850.00
87	5O01PAY	51	Each	Delineator, Type PA-Y	\$45.00	\$2,295.00	\$105.00	\$5,355.00	\$67.50	\$3,442.50	\$75.00	\$3,825.00
88	5P12REM	29,000.00	L.F.	Striping and Marking Removal, Hydromilling	\$0.52	\$15,080.00	\$0.56	\$16,240.00	\$0.73	\$21,170.00	\$0.75	\$21,750.00
89	5P20LLS	14,800.00	L.F.	Traffic Stripes, Long - Life, Epoxy Resin	\$1.00	\$14,800.00	\$0.63	\$9,324.00	\$0.47	\$6,956.00	\$0.50	\$7,400.00
90	5P21LLS	38,900.00	L.F.	Traffic Stripes, Long - Life, thermoplastic	\$1.00	\$38,900.00	\$1.03	\$40,067.00	\$0.63	\$24,507.00	\$0.75	\$29,175.00
91	5P33LLM	2,500.00	S.F.	Traffic Markings, Symbols, Long - Life, Thermoplastic	\$0.25	\$625.00	\$0.25	\$625.00	\$7.53	\$18,825.00	\$2.25	\$5,625.00

Base Line	Item Deta	ail			South State, Inc.		Richard E. Piers	on Construction	Earle Asphalt Co	ompany	A. E. Stone, Inc.	
92	5Q01FOE	1	Unit	Furnish Field Office, Type E	\$10,000.00	\$10,000.00	\$35,000.00	\$35,000.00	\$69,623.18	\$69,623.18	\$40,000.00	\$40,000.00
93	5Q02MFE	12	Mnth	Maintain Field Office, Type E	\$1,200.00	\$14,400.00	\$2,500.00	\$30,000.00	\$4,628.75	\$55,545.00	\$2,500.00	\$30,000.00
94	5V01PIT	10	Each	Test Pits	\$500.00	\$5,000.00	\$1,200.00	\$12,000.00	\$258.83	\$2,588.30	\$500.00	\$5,000.00
95	5W01CDV	225	L.F.	Cleaning Existing Storm Drain, 12" to 48" Diameter	\$15.00	\$3,375.00	\$100.00	\$22,500.00	\$20.50	\$4,612.50	\$30.00	\$6,750.00
96	5X00017	2	Each	Quadguard Impact Attenuator, 2 Bays, 24" Wide	\$15,000.00	\$30,000.00	\$15,505.00	\$31,010.00	\$18,847.32	\$37,694.64	\$15,000.00	\$30,000.00
97	5X00PRA	4	Each	Placing and Removing Temporary Impact Attenuator, Quadguard	\$10,000.00	\$40,000.00	\$1,500.00	\$6,000.00	\$761.01	\$3,044.04	\$2,500.00	\$10,000.00
98	5X00RPR	4	Each	Repair Temporary Impact Attenuator, Quadguard	\$1.00	\$4.00	\$2,750.00	\$11,000.00	\$1,296.76	\$5,187.04	\$2,500.00	\$10,000.00
99	5X02FTA	2	Each	FURNISHING TEMPORARY IMPACT ATTENUATOR, QUADGUARD, 9 BAYS, 24" WIDE	\$15,000.00	\$30,000.00	\$1,000.00	\$2,000.00	\$17,250.00	\$34,500.00	\$10,000.00	\$20,000.00
100	5X03FTA	2	Each	Furnishing Temporary Impact Attenuator, Quadguard, 4 Bays, 24" Wide	\$13,000.00	\$26,000.00	\$1,000.00	\$2,000.00	\$13,512.50	\$27,025.00	\$10,000.00	\$20,000.00
101	5X51QIA	3	Each	Quadguard Impact Attenuator, 3 Bays, 24" Wide	\$15,000.00	\$45,000.00	\$19,000.00	\$57,000.00	\$17,309.82	\$51,929.46	\$15,000.00	\$45,000.00
102	5Y01MRP	8	Each	Mile Marker, Type RP	\$140.00	\$1,120.00	\$155.00	\$1,240.00	\$80.00	\$640.00	\$125.00	\$1,000.00
103	5ZO0171	2	Each	Manhole, 4' Diameter	\$14,000.00	\$28,000.00	\$2,700.00	\$5,400.00	\$11,223.51	\$22,447.02	\$14,500.00	\$29,000.00
104	5ZD01RPM	566	Each	Raised Pavement Markers	\$24.50	\$13,867.00	\$25.00	\$14,150.00	\$22.61	\$12,797.26	\$25.00	\$14,150.00
105	5ZD04RPM	180	Each	Removal of Raised Pavement Markers	\$0.01	\$1.80	\$20.00	\$3,600.00	\$8.76	\$1,576.80	\$20.00	\$3,600.00
106	5ZZ65GR	1	Each	Controlled Release Terminal	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$2,312.50	\$2,312.50	\$1,500.00	\$1,500.00
107	6A00118	12	Each	18" x 36" Junction Boxes	\$2,000.00	\$24,000.00	\$2,000.00	\$24,000.00	\$1,980.00	\$23,760.00	\$2,000.00	\$24,000.00
108	6A00119	2	Each	Foundation, Type P-MC	\$2,600.00	\$5,200.00	\$2,600.00	\$5,200.00	\$2,574.00	\$5,148.00	\$2,500.00	\$5,000.00
109	6A00121	2	Each	Controller, 8 Phase	\$16,000.00	\$32,000.00	\$15,030.00	\$30,060.00	\$14,879.70	\$29,759.40	\$15,000.00	\$30,000.00
110	6A00122	2	Each	Controller Turn-On	\$4,100.00	\$8,200.00	\$4,020.00	\$8,040.00	\$3,969.90	\$7,939.80	\$4,000.00	\$8,000.00
111	6A00136	2	Each	Meter Cabinet, Type TL	\$3,100.00	\$6,200.00	\$3,100.00	\$6,200.00	\$3,039.30	\$6,078.60	\$3,000.00	\$6,000.00
112	6A00162	8,994.00	L.F.	Multiple Lighting Wire, No. 8 AWG	\$1.20	\$10,792.80	\$1.20	\$10,792.80	\$1.16	\$10,433.04	\$1.00	\$8,994.00
113	6A02MLC	25,000.00	L.F.	#2 A.W.G. Multiple Lighting Cable	\$2.80	\$70,000.00	\$2.80	\$70,000.00	\$2.77	\$69,250.00	\$3.00	\$75,000.00
114	6A02RMU	200	L.F.	2" Rigid Metallic Conduit, Underground	\$28.00	\$5,600.00	\$29.00	\$5,800.00	\$27.72	\$5,544.00	\$25.00	\$5,000.00
115	6A02SVC	800	L.F.	#2 A.W.G. Service Cable (600v)	\$5.10	\$4,080.00	\$6.00	\$4,800.00	\$4.99	\$3,992.00	\$5.00	\$4,000.00
116	6A03RMU	3,009.00	L.F.	3" Rigid Metallic Conduit, Underground	\$50.00	\$150,450.00	\$60.00	\$180,540.00	\$49.50	\$148,945.50	\$50.00	\$150,450.00
117	6A03RNC	9,500.00	L.F.	3" Rigid Nonmetallic Conduit, PVC-(Schedule 40)	\$12.00	\$114,000.00	\$13.00	\$123,500.00	\$11.88	\$112,860.00	\$12.00	\$114,000.00
118	6A06SWR	700	L.F.	#6 A.W.G. Service Wire	\$2.65	\$1,855.00	\$2.75	\$1,925.00	\$2.58	\$1,806.00	\$3.00	\$2,100.00
119	6A08GWR	11,997.00	L.F.	#8 A.W.G. Ground Wire	\$0.65	\$7,798.05	\$0.65	\$7,798.05	\$0.62	\$7,438.14	\$1.00	\$11,997.00
120	6A10FML	1	Each	Concrete Foundations for Meter Cabinet and Load Center Cabinet	\$5,500.00	\$5,500.00	\$5,700.00	\$5,700.00	\$5,454.90	\$5,454.90	\$5,000.00	\$5,000.00
121	6A13RNC	500	L.F.	3" Rigid Nonmetallic Conduit, PVC-(Schedule 80)	\$32.00	\$16,000.00	\$33.50	\$16,750.00	\$31.68	\$15,840.00	\$30.00	\$15,000.00
122	6A21JF1	52	Each	Junction Box Foundation, Type 1	\$23.00	\$1,196.00	\$2,000.00	\$104,000.00	\$2,277.00	\$118,404.00	\$2,500.00	\$130,000.00
123	6A24JBC	52	Each	Junction Box, Type C	\$15.00	\$780.00	\$1,000.00	\$52,000.00	\$1,485.00	\$77,220.00	\$1,500.00	\$78,000.00
124	6B00029	1	Each	Load Center Cabinet, Type G, Voltage 120/240V	\$6,200.00	\$6,200.00	\$6,200.00	\$6,200.00	\$6,068.70	\$6,068.70	\$6,000.00	\$6,000.00
125	6B00030	2	Each	Meter Cabinet, Type G, Voltage 120/240V	\$2,700.00	\$5,400.00	\$2,700.00	\$5,400.00	\$2,603.70	\$5,207.40	\$2,500.00	\$5,000.00
126	6B00090	1	Each	Lighting Mast Arm, Steel	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,465.20	\$1,465.20	\$1,500.00	\$1,500.00
127	6B00141	1	Each	Lighting Mast Arm Aluminum	\$400.00	\$400.00	\$400.00	\$400.00	\$376.20	\$376.20	\$350.00	\$350.00
128	6B00142	22	Each	Luminaire	\$1,150.00	\$25,300.00	\$1,200.00	\$26,400.00	\$1,098.90	\$24,175.80	\$1,000.00	\$22,000.00
129	6B00161	1	Each	Load Center Cabinet, Type 1M-MC (NJDOT)	\$9,000.00	\$9,000.00	\$9,400.00	\$9,400.00	\$8,860.50	\$8,860.50	\$9,250.00	\$9,250.00
130	6B07RWL	1	Each	RELOCATE LIGHTING STANDARD	\$2,450.00	\$2,450.00	\$2,500.00	\$2,500.00	\$2,425.50	\$2,425.50	\$2,500.00	\$2,500.00
131	6B15TP2	21	Each	Type P2 Luminaire, 150W	\$1,150.00	\$24,150.00	\$1,150.00	\$24,150.00	\$1,098.90	\$23,076.90	\$1,000.00	\$21,000.00
132	6B45LMG	21	Each	Lighting Standard, Type L-MG-40	\$6,000.00	\$126,000.00	\$3,000.00	\$63,000.00	\$2,702.70	\$56,756.70	\$2,500.00	\$52,500.00
133	6C01SLA	1	L.S.	Sign Lighting Assembly, Structure No. 1	\$10,500.00	\$10,500.00	\$10,900.00	\$10,900.00	\$10,335.60	\$10,335.60	\$15,000.00	\$15,000.00
134	6H00006	5	Each	Image Detector	\$4,500.00	\$22,500.00	\$2,600.00	\$13,000.00	\$4,385.70	\$21,928.50	\$4,000.00	\$20,000.00
135	6H000PB	6	Each	Push Button	\$250.00	\$1,500.00	\$260.00	\$1,560.00	\$244.53	\$1,467.18	\$250.00	\$1,500.00

Base Line Item Detail				South State, Inc.	ate, Inc. Richard E. Pierson Construction Earle Asphalt Com				ompany A. E. Stone, Inc.		
136	6H00SFT	5 Each	Foundation, Type SFT	\$1,800.00	\$9,000.00	\$1,890.00	\$9,450.00	\$1,782.00	\$8,910.00	\$1,800.00	\$9,000.00
137	6H00SPF	4 Each	Foundation, Type SPF	\$1,400.00	\$5,600.00	\$1,470.00	\$5,880.00	\$1,386.00	\$5,544.00	\$1,500.00	\$6,000.00
138	6H00STF	3 Each	Foundation, Type STF	\$6,000.00	\$18,000.00	\$6,300.00	\$18,900.00	\$5,949.90	\$17,849.70	\$6,200.00	\$18,600.00
139	6H00SFK	3 Each	Foundation, Type SFK	\$2,000.00	\$6,000.00	\$2,100.00	\$6,300.00	\$1,980.00	\$5,940.00	\$2,000.00	\$6,000.00
140	6H00TSH	26 Each	Traffic Signal Head	\$900.00	\$23,400.00	\$940.00	\$24,440.00	\$891.99	\$23,191.74	\$900.00	\$23,400.00
141	6H00PSH	6 Each	Pedestrian Signal Head	\$750.00	\$4,500.00	\$750.00	\$4,500.00	\$705.87	\$4,235.22	\$700.00	\$4,200.00
142	6H00TSM	6 Each	Traffic Signal Mast Arm, Aluminum	\$1,400.00	\$8,400.00	\$1,400.00	\$8,400.00	\$1,356.30	\$8,137.80	\$1,400.00	\$8,400.00
143	6H01ITS	1 L.S.	Interim Traffic Signal System, Location No. 1	\$1,000.00	\$1,000.00	\$13,500.00	\$13,500.00	\$11,523.60	\$11,523.60	\$25,000.00	\$25,000.00
144	6H01TSM	3 Each	Traffic Signal Mast Arm, Steel	\$6,000.00	\$18,000.00	\$6,300.00	\$18,900.00	\$5,920.20	\$17,760.60	\$6,000.00	\$18,000.00
145	6H02ITS	1 L.S.	Interim Traffic Signal System, Location No. 2	\$1,000.00	\$1,000.00	\$24,000.00	\$24,000.00	\$11,523.60	\$11,523.60	\$25,000.00	\$25,000.00
146	6H02TSC	1,056.00 L.F.	Traffic Signal Cable, 2 Conductor	\$0.85	\$897.60	\$0.85	\$897.60	\$0.83	\$876.48	\$1.00	\$1,056.00
147	6H04PSA	4 Each	Pedestrian Signal Standard	\$650.00	\$2,600.00	\$670.00	\$2,680.00	\$626.67	\$2,506.68	\$650.00	\$2,600.00
148	6H05TSC	1,063.00 L.F.	Traffic Signal Cable, 5 Conductor	\$1.50	\$1,594.50	\$1.55	\$1,647.65	\$1.45	\$1,541.35	\$1.50	\$1,594.50
149	6H06TSS	8 Each	Traffic Signal Standard, Aluminum	\$2,200.00	\$17,600.00	\$2,300.00	\$18,400.00	\$2,178.00	\$17,424.00	\$2,250.00	\$18,000.00
150	6H07TSS	3 Each	Traffic Signal Standard, Steel	\$6,000.00	\$18,000.00	\$6,100.00	\$18,300.00	\$5,771.70	\$17,315.10	\$6,000.00	\$18,000.00
151	6H10TSC	5,200.00 L.F.	Traffic Signal Cable, 10 Conductor	\$2.00	\$10,400.00	\$2.10	\$10,920.00	\$1.99	\$10,348.00	\$2.00	\$10,400.00
152	7C01TOP	11,000.00 S.Y.	Topsoil	\$9.65	\$106,150.00	\$1.70	\$18,700.00	\$5.41	\$59,510.00	\$2.50	\$27,500.00
153	7D00002	1,976.00 S.Y.	Seeding, Lowland	\$1.25	\$2,470.00	\$1.30	\$2,568.80	\$1.20	\$2,371.20	\$1.50	\$2,964.00
154	7D01SED	43,600.00 S.Y.	Seeding, Type A	\$0.65	\$28,340.00	\$0.65	\$28,340.00	\$1.20	\$52,320.00	\$1.50	\$65,400.00
155	7D02SED	3,777.00 S.Y.	Seeding, Type B	\$0.65	\$2,455.05	\$0.65	\$2,455.05	\$1.20	\$4,532.40	\$1.50	\$5,665.50
156	7D08SED	250 S.Y.	Seeding, Type L	\$0.95	\$237.50	\$1.00	\$250.00	\$1.20	\$300.00	\$3.00	\$750.00
157	7D20MOW	5 Acre	Mowing	\$475.00	\$2,375.00	\$475.00	\$2,375.00	\$700.00	\$3,500.00	\$1,000.00	\$5,000.00
158	7D30WAT	1,320.00 M.G.	Watering	\$65.00	\$85,800.00	\$65.00	\$85,800.00	\$10.00	\$13,200.00	\$4.00	\$5,280.00
159	N7E0014	83 Each	Planting, Arrowwood Viburnum (Viburnum Dentatum)	\$32.00	\$2,656.00	\$32.00	\$2,656.00	\$275.00	\$22,825.00	\$90.00	\$7,470.00
160	7E00045	15 Each	Planting, Willow Oak (Quercus Phellos)	\$450.00	\$6,750.00	\$450.00	\$6,750.00	\$275.00	\$4,125.00	\$450.00	\$6,750.00
161	7E00135	43,600.00 S.Y.	Tackified Straw Mulch	\$0.50	\$21,800.00	\$0.50	\$21,800.00	\$0.80	\$34,880.00	\$0.75	\$32,700.00
162	7E00138	81 Each	Planting, Red Sprite Winterberry (Ilex Verticillate)	\$32.00	\$2,592.00	\$32.00	\$2,592.00	\$250.00	\$20,250.00	\$50.00	\$4,050.00
163	7E00139	11 Each	Planting, October Glory Maple (Acer Rubrum)	\$450.00	\$4,950.00	\$450.00	\$4,950.00	\$250.00	\$2,750.00	\$450.00	\$4,950.00
164	7F01SSM	250 S.Y.	Soil Stablization Matting	\$5.00	\$1,250.00	\$5.00	\$1,250.00	\$5.00	\$1,250.00	\$5.00	\$1,250.00
165	7L01NVA	2,000.00 S.Y.	Nonvegetative Surface, Hot Mix Asphalt	\$24.00	\$48,000.00	\$24.00	\$48,000.00	\$31.25	\$62,500.00	\$25.00	\$50,000.00
166	7N00008	1,479.00 S.Y.	Planting Soil Bed	\$15.00	\$22,185.00	\$2.75	\$4,067.25	\$50.00	\$73,950.00	\$5.00	\$7,395.00
167	8A01MPT	1 L.S.	Furnishing Traffic Control Devices	\$680,000.00	\$680,000.00	\$750,000.00	\$750,000.00	\$469,983.52	\$469,983.52	\$1,000,000.00	\$1,000,000.00
168	8CPTD0B	1 L.S.	Police Traffic Directors (NO-BID)	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00
169	8A30MPT	2 Each	Furnishing Portable Variable Message Sign	\$25,000.00	\$50,000.00	\$10,000.00	\$20,000.00	\$8,280.00	\$16,560.00	\$25,000.00	\$50,000.00
170	N8A0001	3,200.00 L.F.	Furnishing Precast Concrete Construction Barrier	\$50.00	\$160,000.00	\$20.00	\$64,000.00	\$13.76	\$44,032.00	\$50.00	\$160,000.00
171	N8A0002	6,300.00 L.F.	Placing and Removing Precast Concrete Construction Barrier	\$25.00	\$157,500.00	\$20.00	\$126,000.00	\$14.49	\$91,287.00	\$25.00	\$157,500.00
172	N8A0003	1,700.00 L.F.	Resetting Precast Concrete Construction Barrier	\$1.30	\$2,210.00	\$7.25	\$12,325.00	\$5.38	\$9,146.00	\$25.00	\$42,500.00
173	8C100SCL	1 L.S.	Maintenance and Protection of Traffic on State, County, and Local Roadways	\$1,000.00	\$1,000.00	\$150,000.00	\$150,000.00	\$0.01	\$0.01	\$100,000.00	\$100,000.00
			Base Tota		\$7,439,842.50		\$8,177,121.17		\$8,280,913.13		\$9,690,000.00